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Chapter 3 Practice Test (3.1 - 3.3) Date Period
Solve by graphing BY HAND. Check!
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Solve the system by graphing using the TICALC.

a) Sketch the graph

b) Identify the solution on the graph and label. Roundthe ordered pair to 2 decimals.

¢) Check algebraically.
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Solve system by substitution. Then Check!
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Solve each system by elimination (if possible). Then Check!
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Solve each system by elimination. Then Check!
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TEST (CD/ o)

Sketch the solution to each system of inequalities.
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Sketch the solution. Add the inequality to the following to each system of inequalities:
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